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BACHELOR OF COMMERCE 

(GENERAL) [B. COM. (G)] 

Term-End Examination 

December, 2024 

BCOC–137 : CORPORATE ACCOUNTING 

 Time : 3 Hours    Maximum Marks : 100 

Note : Attempt any five questions. Each question 

carries 20 marks.   

1. (a) What are the different kinds of shares 

which a company can issue as per the 

Companies Act, 2013 ? 10 

(b) Give the definition of debenture as per the 

Companies Act, 2013. What are the 

different types of debentures ? 10 
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2. Shriram Ltd., offered for subscription to the 

public 10000 equity shares of ` 10 each payable 

` 5 on application; ` 3 on allotment and the 

balance on first and final call. Applications 

were received for 10000 equity shares. The 

directors made the allotment to the applicants 

in full. All amounts due on allotment and first 

and final call were duly received. 

Give journal entries in the books of the 

company.  20 

3. What do you mean by cash flow statement ? 

Draw a specimen pro forma of cash flow 

statement by indirect method using imaginary 

figures.   5+15 
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4. The following is the Trial Balance of Hanuman 
Ltd. as on 31st March, 2021 : 20 

Particulars ` 

Stock as on 1st April, 2020 7,50,000 

Purchases 24,50,000 

Wages 3,00,000 

Carriage inwards 9,500  

Furniture 1,70,000 

Salaries 75,000 

Rent 40,000 

Sundry Trade Expenses 60,500 

Dividend Paid for 2019-20 90,000 

Corporate Dividend Tax Paid 9,000 

Sundry Debtors 2,85,000 

Plant and Machinery 2,90,000 

Cash at Bank 4,62,000 

Patents 48,000 

Bills Receivable 50,000 

 50,89,000 
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Particulars ` 

Purchase Returns 1,00,000 

Sales 34,00,000 

Discount 30,000 

Profit & Loss Account 1,59,000 

Share Capital 10,00,000 

Sundry Creditors 1,75,000 

General Reserve 1,55,000 

Bills Payable 70,000 

 50,89,000 

Prepare the Profit & Loss Account for the year 

ended 31st March, 2021 and a Balance Sheet as 

on that date after considering the following 

adjustments : 

(i) Stock as on 31st March, 2021 was valued 

at ` 8,81,000. 

(ii) Make a provision for income tax as 35%. 
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(iii) Depreciate plant and machinery at 15%; 

furniture at 10% and patents at 5%. 

(iv) On 31st March, 2021, outstanding rent 

amount to ` 8,000. 

(v) The Board recommends payment of 

dividend @15% p.a. Then transfer the 

minimum amount required to general 

reserve. Also make a provision for 

corporate dividend tax @10% of the amount 

proposed to be distributed. 

(vi) Provide ` 3,100 for doubtful debts. 

(vii) Provide ` 52,000 for managerial 

remuneration. 

5. Explain the meaning of holding company. What 

are the requirements that are to be fulfilled for 

a company to become a holding company ? 

Support your answer with the help of suitable 

examples.  5+15 
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6. The following details are available about the 

business of Shyam Ltd. : 20 

(i) Profits in : 1994 : ` 80,000; 1995 :  

` 1,00,000; 1996 : ` 1,20,000. 

(ii) Non-recurring income of ` 8,000 is included 

in the profit of 1995. 

(iii) Profits of 1994 have been reduced by  

` 12,000 because goods were destroyed by 

fire. 

(iv) Goods have not been insured but it is 

thought prudent to insure them in future. 

The insurance premium is estimated at  

` 800 per year. 

(v) Reasonable remuneration of the proprietor 

of the business is ` 12,000 per year but it 

has not been taken into account for 

calculation of above mentioned profits. 
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(vi) Profits of 1996 include ` 10,000 income on 

investment. 

Calculate goodwill on the basis of three years’ 

purchase of the average profit of last three 

years. 

7. (a) Distinguish between amalgamation in the 

nature of merger and amalgamation in the 

nature of purchase. 10 

(b) Explain the meaning of purchase 

considerations. What are the various 

methods for the calculating of purchase 

consideration ? 10 

8. (a) Explain the statutory provisions for 

reducing share capital. 10 

(b) What do you mean by the bank teller 

system ? What are its benefits and scope in 

retail banking ? 10 
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9. (a) What are the possible consequences of very 

high unmanageable NPAs ? 10 

(b) While preparing the bank's final accounts, 

show the treatment of the following 

transactions : 10 

(i) Bills for Collection 

(ii) Interest on Doubtful Debts 

(iii) Advances 

(iv) Unclaimed Dividend 
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okf.kT; Lukrd (lkekU;)  

[(ch- dkWe- (th-)] 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-lh-vks-lh-–137 % fuxfer ys[kkadu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % fdUgha ik ¡p iz'uksa dks gy dhft,A izR;sd iz'u ds 

20 vad gSaA  

1- (v)  daiuh vf/fu;e] 2013 ds vuqlkj fofHkUu 

çdkj ds 'ks;j dkSu&ls gSa ftUgsa dksbZ daiuh 

tkjh dj ldrh gS \ 10 
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(c)  daiuh vf/fu;e] 2013 ds vuqlkj fMcsapj dh 

ifjHkk"kk nhft,A fMcsapj ds fofHkUu çdkj D;k 

gSa \  10 

2- Jhjke fyfeVsM us turk dks ` 10 çR;sd ewY; ds 

10000 bfDoVh 'ks;jksa dh lnL;rk dh is'kd'k dh] 

ftleas vkosnu ij ` 5 ns;_ vkcaVu ij ` 3 vkSj 'ks"k 

jkf'k igyh vkSj vafre ;kpuk ijA 10000 bfDoVh 

'ks;jksa ds fy, vkosnu çkIr gq,A funs'kdksa us vkosndksa 

dks iwjk vkcaVu dj fn;kA vkcaVu vkSj çFke rFkk 

vafre ;kpuk ij ns; lHkh jkf'k;k¡ fof/or~ çkIr gks 

xbZaA 

daiuh dh iqLrdksa esa tuZy çfof"V;k¡ nhft,A 20 

3- jksdM+ çokg fooj.k ls vki D;k le>rs gSa \ 

dkYifud vk¡dM+ksa dk mi;ksx djds vçR;{k fof/ 

}kjk jksdM+ çokg fooj.k dk ,d uewuk çks iQkekZ 

cukb,A   5$15 
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4- 31 ekpZ] 2021 dks guqeku fyfeVsM dk ryiV 

fuEufyf•r gS % 20 

fooj.k ` 

1 vçSy] 2020 dks LVkWd 7,50,000 

•jhnkjh 24,50,000 

et+nwjh 3,00,000 

vkod HkkM+k 9,500  

iQuhZpj 1,70,000 

osru 75,000 

fdjk;k 40,000 

fofo/ O;kikj •pZ 60,500 

2019&20 ds fy, ykHkka'k Hkqxrku 90,000 

dkWikZsjsV ykHkka'k dj dk Hkqxrku 9,000 

fofo/ nsunkj 2,85,000 

la;a=k vkSj e'khujh 2,90,000 

cSad esa udn 4,62,000 

isVsaV 48,000 

çkI; fcy 50,000 

 50,89,000 
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fooj.k ` 

•jhn okilh 1,00,000 

fcØh 34,00,000 

NwV 30,000 

ykHk ,oa gkfu •krk 1,59,000 

'ks;j iw¡th 10,00,000 

fofo/ ysunkj 1,75,000 

lkekU; lap; 1,55,000 

ns; fcy 70,000 

 50,89,000 

fuEufyf•r lek;kstuksa ij fopkj djus ds ckn  

31 ekpZ] 2021 dks lekIr o"kZ ds fy, ykHk vkSj 

gkfu •krk vkSj ml frfFk dh cSysal 'khV rS;kj 

dhft, % 

(i) 31 ekpZ] 2021 dks LVkWd dk ewY; ` 8]81]000 

FkkA 

(ii) vk;dj ds fy, 35» dk çko/ku dhft,A 
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(iii) la;a=k vkSj e'khujh ij 15»_ iQuhZpj ij 10» 

vkSj isVsaV ij 5» ewY;ßkl dhft,A 

(iv) 31 ekpZ] 2021 dks cdk;k fdjk;k jkf'k ` 8]000 

gSA 

(v) cksMZ 15» çfr o"kZ dh nj ls ykHkka'k ds Hkqxrku 

dh fliQkfj'k djrk gSA fiQj vko';d U;wure 

jkf'k dks lkekU; lap; esa LFkkukarfjr dhft,A 

forfjr dh tkus okyh çLrkfor jkf'k dks 10» 

dh nj ls dkWikZsjsV ykHkka'k dj dk Hkh çko/ku 

dhft,A 

(vi) lafnX/ ½.kksa ds fy, ` 3]100 çnku dhft,A 

(vii) çca/dh; ikfjJfed ds fy, ` 52]000 çnku 

dhft,A 

5- lw=k/kjh daiuh dk vFkZ Li"V dhft,A fdlh daiuh 

dks lw=k/kjh daiuh cuus ds fy, fdu vko';drkvksa 

dks iwjk djuk gksxk \ mi;qDr mnkgj.kksa dh lgk;rk 

ls vius mÙkj dk leFkZu dhft,A 5$15 
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6- ';ke fyfeVsM ds O;olk; ds ckjs esa fuEufyf•r 

fooj.k miyC/ gSa % 20 

(i) ykHk % 1994 % ` 80]000_ 1995 % ` 1]00]000_ 

1996 % ` 1]20]000A 

(ii) 1995 ds ykHk esa ` 8]000 dh xSj&vkorhZ vk; 

'kkfey gSA 

(iii) 1994 dk equkiQk ` 12]000 de gks x;k D;ksafd 

lkeku vkx ls u"V gks x;k FkkA 

(iv) oLrqvksa dk chek ugha djk;k x;k gS ysfdu 

Hkfo"; esa mudk chek djkuk le>nkjh gSA chek 

çhfe;e çfr o"kZ ` 800 vuqekfur gSA 

(v) O;olk; ds ekfyd dk mfpr ikfjJfed  

` 12]000 çfr o"kZ gS] ysfdu bls mi;ZqDr equkiQs 

dh x.kuk ds fy, è;ku esa ugha j•k x;k gSA 
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(vi) 1996 ds ykHk esa fuos'k ij ` 10]000 dh vk; 

'kkfey gSA 

fiNys rhu o"kks± ds vkSlr ykHk ds rhu o"kks± dh 

•jhn ds vk/kj ij lk• dh x.kuk dhft,A  

7- (v)  foy; dh çÑfr ds ,dhdj.k rFkk Ø; dh 

çÑfr ds ,dhdj.k esa varj Li"V dhft,A 10 

(c)  Ø; çfriQyksa dk vFkZ Li"V dhft,A Ø; 

çfriQy dh x.kuk ds fy, fofHkUu fof/;k¡ D;k 

gSa \  10 

8- (v)  va'k iw¡th dks de djus ds fy, oS/kfud 

çko/kuksa dh O;k[;k dhft,A 10 

(c) cSad Vsyj ç.kkyh ls vki D;k le>rs gSa \ 

•qnjk cSafdax esa blds D;k ykHk vkSj laHkkouk,¡ 

gSa \  10 
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9- (v)  vR;f/d mPp vçca/uh; ,u-ih-,- ds laHkkfor 

ifj.kke D;k gSa \ 10 

(c)  cSad ds vafre •krs rS;kj djrs le;] 

fuEufyf•r ysu&nsu dk O;ogkj fn•kb, % 10 

 (i)  laxzg.k ds fy, fcy 

 (ii)  lafnX/ ½.kksa ij C;kt 

 (iii) vfxze 

 (iv) nkok u fd;k x;k ykHkka'k 

 

 

 

 

 

 

 

 
× × × × × × × 
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